
Large	
  Hadron	
  Collider	
  at	
  CERN.	
  	
  Collide	
  two	
  protons	
  head	
  on.	
  	
  Each	
  proton	
  has	
  E	
  =	
  3.5	
  TeV	
  
Interested	
  in	
  process	
  ppàX+stuff	
  followed	
  by	
  Xàµ+µ-.	
  
•  Select	
  collisions	
  where	
  we	
  detect	
  a	
  µ+ and	
  a	
  µ-.	
  
•  Measure	
  the	
  3-­‐momenta	
  of	
  both	
  muons.	
  	
  Construct	
  the	
  4-­‐momentum	
  from	
  E2=P2+Mµ

2.	
  

•  Add	
  the	
  two	
  4-­‐momenta	
  
•  Take	
  the	
  square	
  of	
  the	
  resulOng	
  4-­‐momentum.	
  	
  (This	
  gives	
  a	
  number!)	
  
•  Take	
  the	
  square-­‐root	
  of	
  the	
  result	
  
•  If	
  the	
  two	
  muons	
  come	
  from	
  decay	
  of	
  X,	
  this	
  will	
  be	
  =	
  MX	
  (within	
  resoluOon	
  effects)	
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More	
  data…………	
  



Same	
  idea	
  now,	
  but	
  look	
  for	
  the	
  Higgs	
  boson.	
  
Two	
  “decay	
  channels”	
  
1.  H	
  à	
  γγ	
  	
  
2.  H	
  à	
  µ+µ+µ-µ-	
  or	
  µ+µ-e+e-­‐	
  or	
  e+e+e-­‐e-­‐	
  






